
Nan Hua Primary School 
Primary 4 Science 
Term 2 Weighted Assessment 2023 

Name: ____________ ( 

Class: Primary 4S. __ _ 

llate: ______ _ 

•uratien: 31 minutes

Answer ail 11uestiens. 

Section A: (5 x 2 marks = 10 marks} 

Marks 

Section A: /10 
--

Section B: }10 

Total: /20 

Parent's Signature 

For each question from 1 to 5, four options are given. One of them is the correct answer. 
Make your choice (1, 2, 3 or 4) and write your answer in the brackets provided. 

1 The diagram below shows the life cycle of an insect which includes stages A, B and C. 
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Which one of the following represents stages A, B and C? 
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Both A and C lay their eggs in water 

05 
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Animal B has 3 stages in their life cycle but D has 4 stages in their life 

cycle. 

Mealworm beetle: D 

Frog: A 

Larva 

When the temperature of the environment decreases, length of the 

life cycle of the mosquito increases. 

There will be more adult mosquitos, hence disease spreads at a 

faster rate 

Matter has mass and takes up space 

No. Solids cannot be compressed but matter X can be compressed. 

If Jack did not seal the opening, matter X can escape into the 

surrounding environment. 
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